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The Pythagorean Theorem

Find the missing side in each right triangle.

If you write the answer as a decimal, round the answer to two decimal places.

1. 2. 3.

4. 5. 6.

7. 8. 9.

10. 11. 12.
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62 + 82 = X21.

SOLUTIONS

X = 10

10.

X2 + 52 = 1022.

X =        ≈ 8.6675

X2 + 152 = 2523.
X = 20

42 + 92 = X24.

X =        ≈ 9.8597

X2 + 52 = 1325.
X = 12

22 + 142 = X26.

X =          ≈ 14.14200

X2 + 122 = 1527.
X = 9

X2 + 62 = 928.

X =        ≈ 6.7145

102 + 242 = X29.
X = 26

X2 + 82 = 122

X =        ≈ 8.9480

12.X2 + 162 = 202

X = 12

X2 + 152 = 162

X =        ≈ 5.5731

11.


